EARAROBREBRT —5 XN—ZXBISH—F

2024510848 (&) 10EXH6H

SR Y

‘(fﬁ} W ‘I%EH?’JF&] | 5 200 =

[AE%] 17%&:1,500,000 § ~ 237&:600,000 ™  37%&:375,000F  43&:225,000 . 53&:150,000 1

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~,~ S e )22 :09. -2-2- . - TBKE (VW)
N - BEEZZLs B3 Bl 2(0_9)6 2-2-2-2 | 39.5 2 (5_039) gﬁgg
RN/ FTAVYEYR BRITATIAVR /=Y ITr—1L
0 o3 | KEEZ 2:10.3 6-6-5-4 |39.2| — 3 | 455 |EFH= (k)
2 10 A VAT —h 5.0 31/ wn | KTEE
RiF /IR BiFvrTadAvF LER%
~ st 3 | R 2:10.3 1-1-1-1 | 40.3| - 4 | 481 |BHEIL ()
3 Bl 3 FTUINhF 252.0 (79<) (-4) BrER
RFIWAVINT ~ B FUIRTS J=HUT7—1
- p— . 33 - SRAEE (V)
4l8l9 PRIAVIAIT 4 3 EE.JO 2(/13_)3 3-3-3-3 | 39.6 1 (igg) m{é;
RkwI—9)I)YIT B:FURIAY E (R
Q _ 4 3 | NEFE 2:12.9 10-10-10-10| 38.4 | — 10 | 458 |ESRIGAD (Vi)
5 4 | NIWIL— bk .0 (941) (+4) HEZK
RILAYR—FA4Y B IVAVRYYD HYYNIOVYFYT7— L
S o » X 13. =77 . - = (KH)
67| g | HvIRU—O—2 4 3 s 2(31/34)0 7-7-7-7 | 41.3 9 (4+33(; Eﬁ%
RIPIRIVEVIT L BiX(vavusry+ T4 FHIS
—JLMJ 1w R 4 3 | AHEE 2:13.7 4-5-7-8 | 42.0| - 5 541 | BEIBE (KH)
72| 7V UYE %6.0 3172 Gan) | @ FrOvrTr—n
RINAYRIATERTwY 8:T5VVIT—) J=HUT7—L
o o o REKE : -4-4- - FH sl (KH)
g7l 7 | NIy FAYT— # 3 e 2(.11/32.)8 5-4-4-5 | 42.7 7 21;147) A
KRi/ITTURN B:ITI—F B
s 3 | fEREE 2:13.9 8-8-6-6 |42.4| — 6 512 | EEME (KH)
9|5|5|LbOYAT 56.0 /2 ) |TEBE
R:O3947 B:FhoVATUAR (/) #B81—-RL—yavEEI7
< o 3 | SHE 2:14.1 9-9-9-9 |41.6| - 8 | 518 |BWARZ (k)
100111 | B—LYARTYI— e 80 ) (+4) ) O—LY
R:RyI—9ILYIT &:/NILFT4—)b S K5
@ 11— —BERIEI
13—7F— 3,6,9,2,7,10,8,5,1,4
20— — 3,6,9,7,2,10,8,5,1,4
IT=5r= 3,6,9,7,10,5,(2,8),1.4
41—+ — 3,6,9,10,7,5,8,2,1,4
o ILRE
BB 6 260 JA R 6-10 320/ & 6-8 2004 3ER 3-6-10 1,750/
B B 6 140 3-6 440/ (=] 6-8 610M4 3Es 6-10-3 6,740M
10 160M9 3-10 5201 B E 6-10 700
3 220/ Ba 6-10 1,210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




